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Machines of Death

       Period:


1. ____ states have the death penalty with more than ______ prisoners on  Death Row (in 1998)
2. In hanging, the knot is positioned behind the _____ _____.

3. Death is achieved in hanging, ideally, when the fall causes the rope to ________ the ____ & _____ vertebra.

4. To calculate the correct drop length the equation is _____ divided by the _______ _______.

5. In electrocution, the brain’s temperature is raised to ____ to ____.

6. The lower voltage shot interferes with ______ ______ to the ______.

7. What states execute by hanging:

8. What states execute by firing squad:

9. What states do not have the death penalty:

10. What type of cartridge is used in a firing squad:

11.  Eight ounces of ______ salts are dropped into ________ or ________ acid in the gas chamber.

12. In California, a three-phase method of lethal injection is used.  Describe these three phases:
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